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QUESTION 1

Which two statements about aggregate routes in the Junos OS are correct? (Choose two.) 

A. An aggregate route has a default next hop of an IP address. 

B. An aggregate route always shows as active in the routing table. 

C. An active route can contribute only to a single aggregate route. 

D. Only one aggregate route can be configured for each destination prefix. 

Correct Answer: CD 

 

QUESTION 2

Referring to the exhibit, which two statements are correct? (Choose two.) 

A. R2 and R3 can form a Level 1 IS-IS adjacency. 

B. R4 and R5 can form a Level 1 IS-IS adjacency. 

C. R1 and R5 can form a Level 1 IS-IS adjacency. 

D. R3 and R4 can form a Level 2 IS-IS adjacency. 

Correct Answer: AD 
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QUESTION 3

What kind of filter would be written to protect control traffic destined for the switch? 

A. A filter applied to the default VLAN 

B. A filter applied to the native VLAN 

C. A filter applied to the management interface 

D. A filter applied to the loopback interface 

Correct Answer: D 

 

QUESTION 4

Routet-1 and Router-2 must connect through the Internet using a tunneling technology. Hosts that are connected to
Router-1 and Router-2 will be sending traffic up to 1500 bytes. The maximum segment size that is supported across the
path is 1520 bytes. 

Which tunneling technology will allow this communication to take place? 

A. IP-IP tunnel 

B. GRE tunnel 

C. IPsec VPN tunnel mode 

D. IPsec VPN transport mode 

Correct Answer: A 

 

QUESTION 5

Click the Exhibit button. 
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Referring to the exhibit, the IRB interfaces are configured with which family? 

A. irb 

B. ethernet-switching 

C. inet 

D. l3-interface 

Correct Answer: C 
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